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8.1 H|AKHKIL

= ANESR

1. @-&.'ﬂ\%ﬂ*&t’%:

- MNERAXMBENANEXGROBX, W BRI S AXE XS M.

2. BAB Xk

—NMEFRAPEARSAAAXRHIE ST, KA¥ S AXRARGH X, &
A R E X k.

3. RARAPEXEMEERAT UL,

(1) RAEXENERBBRARE S RBGEEE,

(2) ARDQ2BAEXSFEXGARAZR B LAY AE X

= WURE

B11 EHERAHEESRER.

(1) ~8a?m*!pm+2 4 2gyme 14ints, (2) ax - ay + az;

(3) ~6x*+4x?-2x.

B (1) —8a" ' pm 2 428q™ 1 pin+4 = C4am B (2 T,

(2) ax—ay+az=alx-y+1);

(3) —6x’ +4x>-2x= ~ (62 -4x>+2x) = -22(322 -2 +2).

B2 #ETFHENSBREAR.

(D 3x(x +5) =5(x + )3 (2) (2a+b0)(2a-3b)+al2a+b);

(3) 5x(x-3)*-10(x ~»)°,

B: (1) 3x(x+y)-5(x+y)=(x+y)(3x-5);

(2) Ra+b)(2a-3b)+aRa+ b)=(2a+b)[(2a—3b)+a]=(2a+b)(3a—3b):
3(2a+b)a-b);

(3) Sx(x—y)z—l()(x—y)3=5(x—y)2[x—2(x—_y)]=5(x—y)2(—-x+2y).

B3 EFHEXrBEL.

(1) (x-y)-22(y~2)% (2) 2x(a-6)*-3(b - a)?;

(3) x(x-5)-y(y-2)2+(x-y).

W (1) (x~y)3—23(y—x)2=(x—)')3~2z(x—y)2=(x-y)2(x—y—-2z);

(2) 2x(a-6)*-3(b-a)?=2x(a-5)"-3(a-b)"=(a-b)(2x-3);

(3) x(x—y)z—y(y—x)2+(x-y)3=('x-.y)z[x—y+(x—y)]=(x——y)2'(2x—2y)=
2(x - 4)°.
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1. PHEERKXSHERGE ( )
A. 8a*b-24ab’>=8ab(a -3b)
B. ax+br+ay+by=xla+b)+yla+b)
C. 12x%y +14xy” - 25y =20y(6x + Ty - 1)
D. x2-16=(x+4)(x -4)

2. #a (x-2)+a(2- x)53BEARE( )

A. (x-2)a*-a) B. a{x-2)(a+1)
C. a(x-2)(a-1) D. P E#EARST
3. METR(3¢-46)(Ta~86)+(11a-126)(8b-Ta)HBER, HEREMZEL ( )
A. 8(7a-8b)(a-b) B. 2(7a-8b)?
C. 8(7a~-86)(b-a) D. -2(7a-85)?
. xz=3
4. UK ma+ mb+ me P, EHETSAHHEKHERX , TR ER
REFESHE, BERKX ma+ mb+ me ERER 5 HIFMER, XFomH
KB H M
5. B9 Rx(a-0)+yla-b)-z2(b-a)BTHAERXR ;s RTMETABNS —4
HA R
=, REE
6. LTIEMER:
(1) 8xy2—16x3y3; (2) -4a%bc - 12ab?c + 4abe.

7. ETFHERXTBER .
(1) (b-a)+ala-b); (2) Ba+b)Ba-b)-(a+2b)(b-3a).

1_/_——__—_\\

: TR ‘

\\_——————/
8. RiE: MEBHRB n, 2" - 2" BEH 30 B,
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1. + 5 EZA2K: o®-b*=(a+b)(a-b).

2. BAFFENARSMBX TS,

(1) REMTRAXGLEARE, BRES, FBEAXNXIMBEANAALR A
Fik.

(2) 2XPHFR, TRAF—AH, LTRAAF~ALHFAX S ALK

= WUITE

Bl1 ETHEXIERER.
(1) -y2+4;

(2) —*;—n2+2m2;
(3) «*-16.
B (1) -2 +4=24-42=(2+9)(2-y);

(2) - gnt+2mi= L (n?-4mD) = - L r2m)(n-2m);

(3) 2*-16=(2")? =4 = (2’ +4)(2*-4) = (2? +4)(x +2)(x - 2).

B2 EFIHEXIRER:

(1) 3xy® - 27xy;

(2) %abz—Za;

(3) x6_x2y4-

M: (1) 32y’ - 275y =32y (57 - 9) =32y(y +3)(y - 3);

(2) %ab2—2a=—;—a(bz—4)=%a(b+2)(b-2);

(3) jt6"‘2y4=962(962)2-562()'2)2=xz(x2+y2J(av2-y2)=ac2(9c2+y2)(x+)')(x-y).

B3 E£FHERNEAR .

(1) (a-8)"-(b-a)

(2) 4(x-2)2-1;

(3) 16(a-5)*-9(a+b)2.

B: () (a=5)'-(b-a)=(a-b)*-(a-8)=(a=-b)[(a~b)*-1]=

(a~b)(a-b+1)(a-b-1);

(2) Hx-2)2-1=[2(x-2)12-12=[2(x-2) +1][2(x~2) - 1] = (25 ~3) (2% - 5)

(3) 16(a-5)*-9(a+b)?=[4(a-b)1*-[3(a+b)]*=
[4Ca-8)+3(a+b)][4(a-b)-3(a+b)]=(Ta-b)(a-T7b).
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1. -Q2x-y)QRx+ ) BETFI&HA (
A, 4x7 -7

) BRI i 25 R
B. 4x%+y’ C.

2. AR - (b- ) MERE(
A. {a+b=c)a-b+c¢)

—4x?-y?

D. —4x2+y2
)
B. (ae+b-c)a-b-2¢)
C. (a+b-c)la+b+e) D. (a+b~c)2
3. P rMELEHGE ( )
A, a*=-b*=(a-b)? B. x2+4y2=(x+2y)2
C. %——2a2=%(1+2a)(l—2u)
. KEE
TH

D }'3_1:(}"1)()’2"'2}""1)
4. 8’ - (b - 1) FEEKBT, G BT BESAR a®- b2 =(a+b)(a-b)
AT L

5. (1) 16x2=(_k__

L% —; = - )5 25a% = (
(2) (243 ~(x+y)=
= BER

6. 1€ R0 oA =
(1) -9x7+164*

)2

(2) 1- (x-2)2

7. EFHEXAHER
(1) Ca=-5)? - a%b?;

(2) x*(a=-2b)+ y2(2b -a).

e ] |
. wwA
% 4 F Ik 7

8. (1) HAKNITIRMIEFBARBE, BE--PHKR 2 KMEFEFHAR. HEEK
(2) KAk P ELE# BT 72 6E 8 8 1%,
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3. ReFFAK: o’ +2ab+ b =(a+b)%,a*~2ab+ b2 =(a-b)%

4. BERAAEFFAXNTBAXGEE L.

(D) RABMALFTAXANRE, SRPEAF4, YBEAALAXBHFBX S
B R KT A H ik

Q) RAEEEAFFEARXEREZLPFANK, ARZHERALELF TR
ARX, BACRBATHEAXBAGLEN, FHL2EEREIMENIFLR X
REARTHE.

=" N 5E

Bla EFINEXFMER.

(1) 3627 - 12x +1; (2) (m+nY?+2(m+n) +1;

(3) (a-2b)2-6(2b-a)(a+b)+9(a+b).

B: (1) 3627 - 122 +1=(6x)2-2-(6x)1+1%=(6x -1)%;

(2) (m+n)2+2(m+n)+[=(m+n)2+2‘(m+n)'1+12=[(m+n)+1]2=
(m+n+1)%; :

(3) (a=26)*-6(2b-a)(a+b)+9a+b)?=(a=-26)2+6(a—-2b)(a+b)+9(a+h)?=
(a-20)°+-2Ca-2b)[3(a+ b))+ [3(a+ )P =T(a-2b) +3(a+b)1>= (4a+b)>.

Bils LFHLEXrmELR.

(1) x*+4x% +4x7%, (2) (a+b)?~12(a+b)c+36¢%;

(3) (2" + 1) —d4x(x>+1) + 427, (4) (x+y)" +4(x - y)* - d(2? - ).

/. (D 244 +dxt= N (P 4x +4) = 2% (x +2)2%

(2) Ca+6)?=120a+ e +36c7=(a+5)7 =2 (a+b)(6c) +(6c) =(a+ b-6c);

(3) (x2+1)2—4x(x2+l)+4xv2=[(x2+I)—2x}2=(x2—2x+1)2:(x-—1)4;

(4) (x+y)2+4(x—y)2—4(x2—y2)=(x+y)2—4(x+y)(x—y)+[2(x—y)]2=
[Ce+y) =20x = 3)12 = (3y - 2)2.

Ble NI PHER.

(1) 20a7+ %) (a+ b)* - (a2 - B2,

(2) %—( 2t -2y - 2(w 2 22) )7 4 20,

& (1) 2€a”+ b (a+ ) = (a? - b2)2=2(r12+b2)((1+b)z—((l+b)2(a— b)? =
(a+ b [(2a*>+2b%) = (a2 =2ab + b)Y 1=Ca+ b)) (e +2ab + b)) =(a+ b)*;

(2) “2*()6‘—2)'“)“—2({—2y“)_y‘+2)-4=’%‘[(x2-2y2)2-2‘(x2~2y2)-2y2+(2y‘)zj=

l 2 2] 1 2 4
7’(,\" —4y*)‘ = *z—(x + 2)‘)‘( x - 2_7)“.

Z
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9. 9(x - y)?+12(x - y)(y + x) +4(y + x)? ST BE B )
A. (5x+y)° B. (y-5x)? C. 5y-=x)? D. (5x-5y)°

S

10. THERNGMEALBROE ()

A. %a -4:—(a -16)——(a+4)(a_4)

B. ia2+2ab+9b2=(la+3b)z
9 3
C. a*"-4a"+4=(qa"-2)?
D. 2ab~-a*-b*=(a-b)?
11, BHR(a®+2ab+ b)) - +2cd - d2 FH AR )
A. (a+b-c-d) B. (a+b-c+d)
C. (a+b+c+d) D. (¢a~b-c+d)
ilﬁa

HAXTHE(x+9) -4(x+y-1)=
13. %9x +2(a-4)x +16 B— MRV HR, M aEKJ{E%J
BER
14, BT 0@ER.
(1) a*~10ab +25b%; (2) 3mx3y2+6mxzy+3mx.

15. |-TIEATHREX.

(1) 2x2y2—x4—y4; (2) (#2+22) +2(x2+2x) + 1;

(3) 2?2 -2xy+ 92 -12(x - y) + 36; (4) (2*-3)2+42(2%-3)(x-3) +(x -3)%
. €I
\w//

16. EM4x+9y - 42 +12y+5=0, K x, y 4.
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1. sk ELIAKX.
TRABMF G A B AAAFAGBXRITH,R, LTUREF R AR M,
2. B RRIERAFFERAXFELEFAX.

= RUIFRE

Bl1 EFIEXNSMER.

(1) xz—xy+xz—yz;

(2) a*b+2a%8% - a?b - 2ab?.

B (1) 2% - ay+ 22— yz= (22— xy) 4 (22— yz) =
2lrx-y)+zla~y)=(x~y)(x+2).

A xz—xy+xz—yz=(x2+xz)—(xy+yz)=x(x+z)—y(x+z)=
(z+z)(x-y).

(2) a'b+2a’6% - a%b - 2ab = (a*b +24°0?) < (a®b + 24b?) =
a3b(a+2b)-ab(a+2b)=ab(a+2b)(a2—1)=ab(a+2b)(a+1)(a-1).

B2 ETFIAEXIBER.

(1) 22~ 32424 -1;

(2) a*-y? - 22 ~2y42-2x 41.

#: (1) xz—y2+2y~1=xz—(y2—2y+l)=xz—(y—])2=(x+y—1)(x—y+l);

(2) x2—7'2—22—2y2—2x+l=(x2—2x+l)—(y2+2yz+z2)=
(x—l)z-—(y+z)2=(x—1+y+z)(x—1—y—z).

B3 EFRAEKXIHER.

(1) 4a* +4a-4a%b+ b+1;

(2) (&%= y? - 22)7 42,2,

M: (1) 4a®+4a-4a’b+b+1=(4a2+da+1) - (442b - b) =
(2a+1)2—b(4az—1):(2a+1)2—b(2a+1)(2a~])=(2a+1)[2a+1—b(2a—l)]:
(2a+1)(2a+1-2ab+ b);

(2) (xz—yz*Z2)2—4y222=(x2—y2—-22+2yz)(x2—y2—z2—2yz)=
[xz—(y2—2yz+zz)][x2~(y2+2y2+22)]=[x2-(y—Z)ZJ[xz—(y+ z)?] =

(x+y—z)(x~y+z)(x+y+z)(x~—y—z).
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1. BEAER - xyz + xzy— Pz MEERE ( )
A. x(x—y)(x+z) B. x(x+}')(x-—z) ’
C. x(x—z)(x—y) D. D EZEREHA

2. PHIHEA S BENHRE ( )
A (lz—/)c+ac—ab=(u-—b)(a+c)
B. ab-5¢+3b-15=(b-5)(a+3)
C. xz—ﬁxy-—]+9y2=(x+3)-+l)(x+3y—l)
D. x2+3xy—2x-6y=(x+3y)(x—2)

3. MHATMBEL 2" + 4y 62 +3 - x -2y MRER, FONHERN R ( )
A (2x*+4xy-6x) - (2y + x - 3)
B. (2x%+4xy) - (x+2y) - (6x - 3)
C. (2x°—x) + (day —6x) - (2y - 3)
D. MU EEEEIH

=, REE
4. AKX (1) -2+ a+b= 3 (2) @®—2ab+ b - t=

5. Hday-ax— - kB -PHAR =25+ ), W & BEY
=, BEZ
6. £TFERX>ER.
(1) ax?+3x%-4a-12; (2) 2ab-a*- b2+ 4,
7. LFAELSHER.
(1) 2ty 2277 - 22y — 20y (2) w*-4dab +4b>+6a-126+9.

,,M~A.
' YT

I

8. EHla, b, ¢. dEEEY, Hm =(a/)+cd)2~%((lz+bz—cz—dz)zﬁﬁngﬁ'ﬁ, K
W: 1mIBEAH.
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3. HEBRAY s, EH54H.
4. AR, B4,
5. ié)ﬂ/A\i{.x2+(p+q)x+pq=(x+p)(x+q)ﬁf'ﬁ'5]\%.

= WUITE

B4 ETFIEARR 5

1) (l—xz)(l—yz)—4xy:

(2) ab(e? + d*) + ed(a® + b2);

3 (m+2)(m-2)-4n(m-n).

B (D) (1-2) 1=y ~day=1-x"~37+ a7y —day=

(x2y2—2xy+l)—(x2+2.x:_y+y2)=(x_y—l)2—(x+y)2=
(xy -1+ x+3)(xy-1-x-9);

(2) ab(c?+ d?) + ed{a® + b)) = abe® + abd® + a*ed + bed =
(abc® + a’ed) + (abd® + b2 ed) = ac(he + ad) + bd(ad + be) = (be + ad)(ac + bd) ;

B (m+2)(m=-2)-4n{m-n)=m*-4-dmn+4n’=(m?>-4mn+4n®) -4=
(m-2n)’-d4=(m-2n+2)(m~-2n-2).

Gis EFFEX>EEA

(1) x*+4d4%;

(2) &’ -3a+2.

B (1) 2% +4y = (x4 da?y? 4 4y") — a4y = (22 42,02 - 4422 =
(22 +2y7)7 = (2uy)? = (27 4+ 23y + 2y") (22 =22y +257);

(2) @®-3a+2=(’-a)-2a-2)=alad®*=1)-2(a-1) =
ala+ 1)(a-1)-2(a-1)=(a-1Dlala+1)-2]=
(a-1)(a®+a-2)=(a-1)(a+2).

Ble HLTIEHEXFMARN:

(1) x*-7x+10;

(2) 32%y ~ 627y - 45xy.

B: (1) x2-7x+10=(x-2)(x-5);

(2) 3x3y—6x2y—45xy:3xy(x2—2x—15)=3xy(x—5)(x +3).
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9, XX D2?+7x+6, Dx2+4x+3, Qax2+6x+8, D2 +Tx+10, Ox2+15x + 44
i, EHEHNKHE ( )

A. HEQ. ® B. HAEQ®. @

c. HAO. ® D. REIFLUULEER
10, AER «*+64, EHBE ( )

A, (x2+8)(22-8) B. (x2+8)(x?+8)

C. (z2+4x+8)(x2-4x +8) D. DL EBER#ELARN

1. H(a’-ab-ab®) + 5 PAME, FTHSHFE:O(a’ - a®b) + (- ab + 5),@(a* -
ab2)+(—azb+b3),®a3+(-a2b—ab2+bs)*,é‘ﬂﬂg%( )
A. Q B. D. ® c. ®. O D. @. ®
. N=R
12. rfERK: (1) 2*-4x+3= ;
(2) x (x-1)(x-2)-6 = X
13. F x MBRABK=ZTR, SN CHHERR, BHAL - 12, HHEHE, xk

H_K=mMAHH By WMRIE BRE X —A4EE, MEMBRERSE, BaXEY
TREHAMEF .
N, BER

14. EFIERXTHBAR .

(1) =*+2x2+9; (2) x*-3x-28.

15. £FNEX4REX:
(1) (ax+by)2+(bx—ay)2; (2) 2*+3x%+3x+2.

7‘//—_—_\\\
. UHTA »
\ﬁ'—_———/‘

16. CHIBHGAKR 28cm, HBA », 5B 2%+ 22y - ay’ -~y =0, REBHER.

10
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1. FIEMEILMERERRRADBEOR ( )
Ao i -y - t=(a s y)(x-y) -1
B, x?= = l=(x+1)(x-1)-,?
C. x°~9x-10=(x-10)(x +1)
D. x2+x=xz(l+%)
2. MR - Say =12y = (2 = 3y) Chy +4y), W k BB 30N ( )
A ME-—-B -1 B 24 c. 341 D. 4
3. Z0K O -7 o AR RE ( )
A, (22 - 1)(x%+1) B. (x~1D(x+1)(x>+1)
C.(x~Dla+D)(x*+x+1) D. (x-D)(x+1)*(x%-x+1)
4. B ay + by - ax - by AR ( )
A. (a—b)(y—x) B. (a+b)(x—y)
C.(u-b)(x+y) D.(a—y)(b—x)
5. BHA ¥+ c-252: 430 -2 AHERE ( )
A.x =2 B. x+2 C. x-1 D. v +1
6. WREIN 427+ bx+36 & -NRLTHX, W b BHN ( )
A 12 B. -12 C. 24 D. +24
7. fda-a® -4 HBARMERRE ( )
A a(d-a)-4 B.4a-(a+2)(a-2)
C. —(a+2)? D. -(a-2)?
8. B(a+b)’ -1 BN MERE ( )
A (a+b-1(a-b+1) B.(e+b+1)a-b-1)
C.la+b+1)(a+b-1) D.(a-b+1)(a=-b-1)
9. HMEDNMEAL 20y - 22—y + | FRER, EHEMLFTEL ( )
A, Quey-x)) = (y2-1) : B. (2xy - y?) - (x2-1)

C. (2.r)"+l)—(x2+_»-3) D. (2xy -2 -y?) +1
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G abe - 1/1’/”.@33”1211 +6n:,@>6(p + q)lx —5:(2(;; + q) +4(p + q)z,@)%x3 +

1 - s
+ 0, D8¢ -4a* + 24 - 1,009+ m - n)—=4y{n-~m).
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